

$$\varphi_{1-2} = \frac{6A}{6A} \left( \frac{4}{7_1} - \frac{4}{7_2} \right)$$

$$\frac{1}{\epsilon_1} + \frac{1}{\epsilon_2} - 1$$

$$\frac{1}{6} \left[ \frac{1}{\epsilon_1} + \frac{1}{\epsilon_3} - 1 \right] = 7_1$$

$$\varphi = \varphi_{1-3} = \frac{A \in (7_1^4 - 7_3^4)}{\frac{L}{\varepsilon_1} + \frac{L}{\varepsilon_3} - 1} \qquad \boxed{}$$

$$\frac{0}{A} = \begin{bmatrix} \frac{1}{2} + \frac{1}{2} - 1 \\ \frac{1}{2} + \frac{1}{2} \end{bmatrix} = \frac{7}{1} - \frac{7}{3}$$

$$\frac{0}{A} = \begin{bmatrix} \frac{1}{\xi_1} + \frac{1}{\xi_3} \end{bmatrix} = \tau_1' - \tau_3' \qquad 0 = 0$$

$$\frac{1}{\xi_3} = \frac{A \in (\tau_3 - \tau_2)}{\xi_3 + \xi_2} \qquad 2$$

$$\frac{Q}{A} \perp \left[ \frac{1}{\varepsilon_3} + \frac{1}{\varepsilon_2} - 1 \right] = 73 - 72$$

 $\frac{Q}{A} = \left[ \begin{array}{c} 1 \\ E_3 \end{array} \right] = \left[ \begin{array}{c} 4 \\ E_3 \end{array} \right] = \left[ \begin{array}{c} 4$ 

$$\frac{Q}{A} = \left[ \frac{1}{\epsilon_1} + \frac{1}{\epsilon_3} - \frac{1}{\epsilon_3} + \frac{1}{\epsilon_3} + \frac{1}{\epsilon_3} - \frac{1}{\epsilon_3} \right] = \frac{7}{1} - \frac{7}{2}$$

$$\frac{Q}{A} = \begin{bmatrix} \frac{1}{6} & \frac{1}{2} & \frac{1}{2} & \frac{2}{2} \\ \frac{1}{6} & \frac{1}{6} & \frac{1}{6} & \frac{2}{6} & \frac{2}{6} \end{bmatrix} = \begin{bmatrix} \frac{4}{11} - \frac{4}{12} \\ \frac{1}{6} & \frac{1}{6} & \frac{1}{6} & \frac{2}{6} \end{bmatrix}$$

$$9 = A \in (T_1 - T_2)$$

$$(\frac{1}{\varepsilon_1} + \frac{1}{\varepsilon_3} - 1) + (\frac{1}{\varepsilon_2} + \frac{1}{\varepsilon_3} - 1)$$

$$(\frac{1}{\varepsilon_1} + \frac{1}{\varepsilon_3} - 1) + (\frac{1}{\varepsilon_2} + \frac{1}{\varepsilon_3} - 1)$$

$$(\frac{1}{\varepsilon_1} + \frac{1}{\varepsilon_2} - 1) + (\frac{1}{\varepsilon_2} + \frac{1}{\varepsilon_3} - 1)$$

Pref with Shield =  $\frac{\left(\frac{1}{\epsilon_1} + \frac{1}{\epsilon_2} - 1\right)}{\left(\frac{1}{\epsilon_1} + \frac{1}{\epsilon_3} - 1\right) + \left(\frac{1}{\epsilon_2} + \frac{1}{\epsilon_3} - 1\right)}$ 

Special case  $\xi_1 = \xi_2 = \xi_3 = \xi$ 

 $\frac{-(1+1-1)}{(1+1-1)+(1+1-1)} = \frac{1}{2}$ 

 $\wedge \rightarrow$ 

NTI

Note Title 10/16/2020

Consider two large parallel plates, one at temperature at 727 0C with emissivity 0.8 and other at 227 0 with emissivity 0.4. An aluminium radiation shield with an emissivity of 0.05 on both sides is placed between two plates. Calculate reduction in heat transfer rate between two plates as a result of shield.

Given that 
$$Q_{1} = 727 + 273 = 1000 \, \text{k}$$
 $Q_{1} = 727 + 273 = 500 \, \text{k}$ 
 $Q_{1} = 227 + 273 = 500 \, \text{k}$ 
 $Q_{1} = 0.8$ 
 $Q_{1} = 0.$ 

Case-I

$$\frac{9_{1-3} = 6(7_1^4 - 7_3^4)}{\frac{1}{8_1} + \frac{1}{8_3} - 1}$$

$$= \frac{5.67 \times 10^{8} (1000 - 834.36^{4})}{1.43 \text{ km/m}^{2}} = \frac{1.43 \text{ km/m}^{2}}{0.8 + 6.05}$$

$$\frac{5.67 \times 10^{8} (1000 - 13)}{0.8 + 0.05} = \frac{5.67 \times 10^{8} (73 - 500)}{0.05 + 0.4}$$

9(-2 = 19.33 KW/m²

91-3 = 1.433 KW/m²

7. Reduction -  $\varphi_{1-2} - \varphi_{1-3} = 19.33 - 1.433 \times 100\%$  = 92.53%